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B.Com. (Acc. & Fin.) DEGREE EXAMINATION, NOVEMBER 2015.
III YEAR — VI SEMESTER

Major Paper X — ADVANCED COST ACCOUNTING
Time : 3 hours
                                                                                             Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions
1. Define contract costing.

2. What is EBQ?

3. Explain the term job costing.

4. What do you mean by service costing?

5. What is standing charges?

6. What do you mean by abnormal wastages?

7. Define process costing.

8. Calculate the actual output in unit:

Input – 10,000 Units

Normal Loss – 5% 

Abnormal Loss – 400 Units

9. Find out Margin of safety:

Sales – `13,00,000

Break- even point – `10,40,000

10. What is marginal costing?

11. What is angle of incidence?

12. What is key factor?
SECTION B   — (5 × 5 = 25 marks)

Answer any FIVE questions.

13. What is break-even chart? Explain its advantages.

14. Distinguish between job costing and contract costing.

15. Calculate the economic batch quantity for a product using batch costing from the following details:

Annual Demand for the product – 2000 units

Set up cost per batch – `10/-

Cost of carrying inventory per unit – Re.1/-

16. ABC Co. produces a product through two processes J and K. Prepare the process accounts from the following details relating to March 2007.

	Particulars
	Process J (Rs)
	Process K (Rs)

	Materials
	45000
	15000

	Labour
	60000
	25000

	Chargeable expenses
	5000
	10000


The overheads amounting to `17,000 are to be apportioned on the basis of labour.

17. From the following particulars given below calculate (a) Break-even Point (b)Profit or loss when sales are `12000/-

	Period
	Sales (Rs)
	Profit /Loss(Rs)

	1
	10,000
	-500

	2
	14000
	1500


18. Compute cost per running kilometer from the following data of a truck.

Estimated lie of a vehicle – 1,00,000 Kms

Annual running – 15000 Kms

Cost of Vehicle – `25,000/-

Road License (Annual) – `  750/-

Insurance (Annual) – `700/-

Garage Rent (Annual) – `900/-

Supervision & Salaries (Annual) – `2700/-

Drivers Wage per hour – `3/-

Cost of fuel per litre – `3/-

Repairs & Maintenance per Km – `1.75

Tyre allocation per K.m – 0.90

Charge interest at 5% per annum on cost of vehicle. The vehicle runs 20 Kms per hour on an average and one litre of fuel gives 20 Km.

19. How much profit any, you would allow to be considered in the following case?

Contract cost – `11,20,000

Contract Value – `20,00,000

Cash received – `10,80,000

Uncertified work – `1,20,000


Deduction from the bills by way of security deposit is 10%.
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions

20. S Industries produces a product which passes through two processes I and II and then to finished stock. It is ascertained that in each process 5% of the total weight put in is lost and 10% is scrap which realizes ` 5 per ton and `15 per ton respectively in Processes I & II. The following details are available:

	Particulars
	Process I 
	Process II 

	Materials consumed in tons
	2000
	140

	Cost of materials per ton(`)
	200
	300

	Wages (Rs)
	20000
	15000

	Manufacturing Expenses (`)
	6000
	5000


Prepare Process accounts showing the cost of the output of each process and cost per ton.

21. From the following information relating to XYZ Co.Ltd. you are required to find out (a)
P/V Ratio.

(b)
Break-Even Point 

(c) 
Profit 

(d)
Margin of safety

(e)
Volume of sales to earn a profit of `6000.


Total Fixed Cost – `4500/-


Total Variable Cost – `7500/-

Total Sales – `15,000/-

22. M/S Arun and Varun undertook a contract for `2,50,000 for construction of a college building.The following is the information concerning the contract during the year 2007:

	Particulars
	`

	Materials sent to site
	85,349

	Labour engaged on site
	74,375

	Plant installed at site at cost
	15,000

	Direct Expenditure
	3,167

	Establishment Charges
	4,126

	Materials returned to stores
	549

	Work certified
	1,95,000

	Value of Plant as on 31/12/2007
	11,000

	Cost of work not yet certified
	4,500

	Materials at site 31/12/2007
	1,883

	Wages accrued 31/12/2007
	2,400

	Direct Expenditure accrued 31/12/2007
	2,400

	Cash received from contractee
	1,80,000



Prepare Contract A/C, Contractee A/C and show how the work in progress will appear in the balance sheet as on 31/12/2007.

23. Laxmi Travels, a transport company is running a fleet of 6 buses between 2 towns 75 Kms apart. The seating capacity of each bus is 40 passengers. The following particulars are available for the month of April 2007:
	Particulars
	`

	Wages of Drivers, Conductors etc.
	3,600

	Salaries of office & supervisory staff
	1,500

	Diesel , Oil etc.,
	10,320

	Repairs & Maintenance
	1,200

	Taxes & Insurance
	2,400

	Depreciation
	3,900

	Interest and other charges
	3,000


The actual passengers carried were 80% of the capacity. All the buses run all the days in the month. Each bus made one round trip per day. Find out the cost per passenger kilometer.
--------------------
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